Name(s) _________________________
BA 352: ICE 2, Crashing

	Act
	I.P.
	Norm Time
	Crash Time
	Cost / Day

	A
	--
	7
	4
	$500

	B
	--
	9
	5
	$600

	C
	A
	3
	2
	$900

	D
	A, B
	6
	5
	$700

	E
	C
	4
	2
	$400


1) For the project on the right determine a) the normal completion time, b) how much it will cost to crash the project down to 14 days and c) how much it will cost to crash the project down to 12 days.  d) What is the minimum completion time and e) how much will it cost?

2)  Create your own system to solve crashing problems and fill in the correct costs below.


Norm
Crash

Act
I.P.
Time
Time
Cost/Day

a) Normal completion time?  ______
A
--
   7
4
$375


b) What does it cost to drop to 23
B
--
   5
3
$500


     days?  _______
C
A
 12
9
$900
D
A
   8
6
$625


c) What does it cost to drop to 22
E
A
   2
1
$450


     days?  _______
F
B
   5
4
$750
G
B
   9
7
$650


d) What is the minimum completion 
H
D
   9
6
$300


     time? _______
I
E,F
   6
4
$700
J
G,I
   7
5
$425
	Days
	Cost

	24
	$0

	23
	

	22
	

	21
	

	20
	

	19
	

	18
	

	17
	

	16
	



Hint:  This answer should be close to $8000.








